
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

2nd Month, 4th Week, 4th  Day Ex No. 1.18 Q # (9,10)

Q.1. Answer the following questions. ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX
(i) 1440 men had sufficient food for 32 days in a camp. How many men may

leave the camp so that the same food is sufficient for 40 days when the

ration is increased by  time? (5)

ŠŠŠŠââââVVVVÆÆÆÆaaaa 40 ŠŠŠŠââââVVVVÅÅÅÅppppggggZZZZuuuu»»»»°°°°ììììXXXXÄÄÄÄWWWWŠŠŠŠòòòò−−−−YYYYNNNNāāāā̧̧̧̧ppppggggZZZZuuuu 32 WWWWŠŠŠŠññññVVVVÆÆÆÆaaaaZZZZqqqq----HHHH~~~~ 1440

iiiicccc****ŠŠŠŠ{{{{ìììì???? »»»»°°°°ƒƒƒƒ²²²²ggggZZZZ××××ÅÅÅÅllllZZZZgggg

(ii) Ten men can assemble 400 cycles in 8 days. How many cycles will 5 men

assemble if they work for 16 days? (5)

ŠŠŠŠyyyy»»»»xxxx™™™™ÆÆÆÆÄÄÄÄ‚‚‚‚¡¡¡¡»»»»gggg™™™™,,,,ÐÐÐÐ???? 16 WWWWŠŠŠŠòòòòZZZZ¤¤¤¤//// 5 ‚‚‚‚PPPP»»»»gggg™™™™MMMMhhhh÷÷÷÷ 400 ŠŠŠŠââââVVVV~~~~ 8 WWWWŠŠŠŠòòòò 10
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